

Converting Celsius to Fahrenheit (H)

Estimate or convert the temperatures.

$-1\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$26\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$18\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$14\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$39\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$51\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$85\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$72\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$58\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-78\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-31\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$83\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-43\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$70\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$82\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$29\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$46\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$87\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-37\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$1\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$7\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-30\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$17\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-65\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-94\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-7\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$88\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-12\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$96\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$

$-55\text{ }^{\circ}\text{C} = \text{___\ }^{\circ}\text{F}$